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Instruction: Students are required to write Roll No on every page of the question paper, writing
anything except the Roll No will be treated as Unfair means. In case of rough work please use

answer sheet.

Section A
(Marks 15)

There are 5 questions Attempt any three. Each question carries five marks.

A 1. Gunter Koch, a top-five draft pick of FC Bayern Munich, and his agent are evaluating two
contract options. Each option offers a signing bonus and a series of payments over the life of the
contract. Koch uses a 10 per cent rate of return to evaluate the contracts. Given the cash flows

for each option, which one should he choose?

Year Cash Flow Type Option A Option B

0 Signing Bonus €3 100 000 €4 250 000
1 Annual Salary 650 000 550 000
¥ Annual Salary 715 000 625 000
= Annual Salary 822 250 800 000
4 Annual Salary 975 000 900 000
5 Annual Salary 1100 000 1 000 000
6 Annual Salary 1250 000

A 2. In order to fund her retirement, Shefali requires a portfolio with an expected return of 12 per
cent per year over the next 30 years. She has decided to invest in Shares 1, 2 and 3, with 25 per
cent in Share 1, 50 per cent in Share 2 and 25 percent in Share 3. If Shares 1 and 2 have expected
returns of 9 per cent and 10 per cent per year, respectively, then what is the minimum expected
annual return for Share 3 that will enable Shefali to achieve her investment requirement?

A 3. Explain why profit maximisation is not the best goal for a company. What is an appropriate
goal?

A 4. Cerebra Construction is expanding very fast and expect to grow at a rate of 25 per cent for
the next four years. They recently declared a dividend of €3.60 but do not expect to pay any
dividends for the next three years. In year 4, they intend to pay a €5 dividend and thereafter grow
it at a constant-growth rate of 6 per cent. The required rate of return on such shares is 20 per
cent.

What should be the shares price today?
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A 5. Les Ombres SA had shares ouistanding that were vaiued at €120 before a 2-for-1 share
spiit. After ‘I*he share split, th= shares were valued ct €62 per share. If we accept that the firm’s
financial maneuver did not create any new value, then why might the market be increasing the

total value f)f the firm’s equity”

Section B
(Marks 20)

There are 3 questions. Attempt any two. Each question carries 10 marks

B 1. Harwell University must purchase word processors for its typing lab. The university can buy

10 EVF word processors that cost $8,000 each and have annual, year-end maintenance costs of .

$2,000 per machine. The EVF word processors will be replaced at the end of year 4 and have no
value at that time. Alternatively, Harwell can buy 11 AEH word processors to accomplish the same
work. The AEH word processors will bz replaced after three years. They each cost $5,000 and
have annual, year-end maintenance co~ts of $2,500 per machine. Each AEH word processor will
have a resale value of $500 at the i ihree years.. -

The university’s opportunity cost of funa° for this type of investment is 14 percent Because the .

university is a nonprofit institution, it does .not -pay taxes. It is anticipated that whichever
manufacturer is chosen now will be the supplier of future machines. Would you recommend
purchasing 10 EVF word processors or, 11 AEH machmes'? :

B 2. La Lampe Magique SA currently has €300 million of market value debt outstanding. The 9
per cent coupon bonds have a maturity of 15 years and are currently priced at €1 440. 03 per
bond.
- The firm also has an issue of 2 million preference shares outstanding with a market price of
€12.00. The preference shares offer an annual dividend of €1.20.
La Lampe Magique also has 14 million ordinary shares outstanding with a price of €20.00. The
firm is expected to pay a €2.20 ordinary'share dividend one year from today, and that dividend is
expected to increase by 5 per cent per yaar forever.
If La Lampe Magique is subject to a 40 per cent marginal taX rate, then what is the firm’s weighted
average cost of capital?

B 3. Explain the concept of working cabital. What are the determinants of working capital?

Section C
: (Marks 15)

Assume that you have been appointed: finance director of Bestova Limited. The company is
considering investing in the production of an electronic securlty device, with an expected market
life of 5 years.

The previous finance director has undertaken an analysis of the proposed project; the main
features of his analysis are shown below. -

He has recommended that the project should not be undertaken because the estimated annual
ARRis only 12.8% '
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Proposed Electronic Security Oevice Project

Rupee’00C
Year 0 1 2 3 4 5
Investment in 4,500
Fixed Assets
Cumulative - 300 400 500 600 700 700
Investment in
Working /capital
Revenue 3,700 5,100 5,500 6,000 5,600
Materials €00 800 900 1,000 900
Labour 1,150 1,650 2,000 2,300 2,000
Overhead 50 100 110 110 110
Interest 576 576 576 576 576
Depreciation 960" 90C 0N 200 900
Total Cost 3276 4,026 4,86 4886 4,486
Taxable profit 424 1074 1,014 1,114 1,114
Taxation 148 376 355 ;390 390
Profit after tax 276 698 659 724 724

Total initial investment is Rs 4,800,000.

Average annual after-tax profit is Rs '6716,200.

All of the above cash-flow and profit estimates have been inclusive of inflation estimates. .

You have the following additional information available:

(a) Taxation on profits is at a rate of 35%.

(b) The fixed assets have no expected salvage value at the end of 5 years.

(c) The company’s after-tax weighted average cost of capital 15% per year.

Assume that all receipts and payments arise at the end of the year to which they relate, except
those in year 0, which occur immediately.

Requirements
(a) Estimate the NPV of the proposed project.
(b) Calculate by how much the discount rate would have to change to result in a NPV of

approximately zero.
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_Future <m_% Interest factor of an ordinary annutty of §1 per period at % for n periods, FVIFA(i ).

1% 2% & 5% 6% 1% g% O 0% 1% 1% 3% 4% 15% 16% 7%  18%  19% 0%
1.000  1.000 1000 1000| 1000 1.000 1000 1000 1000 1000 1000 1000 1000 1000] 1000 1000 1000 1000 1.000
20102020 2040 2050 2060 2070 2,080 2000 2100| 2110 2120 2130 2140 2450 2160 2170 2180 2490 2200
3.030  3.060 322 3153| 3484 325 32§ 3 3310| 330 3374 3407 3440 3473| 3506 3530 35 3606 3640
4122 A28 AN0| 4375 4440 4508 4513 4841 4TI0 4779 4850 4921 4993 5066 5141 5215 5201 5368

5.204 SA16 5506| 5637 5751 5867 3985 6105| 6228 638 6480 6610 6742 6877 7014 7154 7207 7442

6.308 6633 6802( 6975 7153 73% 758 7716| 7913 815 8323 8536 87%4| 8977 9201 9442 9683 9.930

7.434 7898 8.142| 8304 8654 8923 9200 9487) 9783 10080 10405 10730 11.067| 11.414 "2 12142 12523 12916

8.583 9214 95491 9807 10260 10637 11,028 11.4% 11859 12300 12757 13233 13727| 14240 4773 15307 15.902 16499

m 9.785 10563 11.027 | 11481 11978 12488 13021 13579 | 14.164 14776 15416 16.085 16786 17519 18285 19.086 19923 20799
10.950 12006 12578 | 13181 13816 14487 19103 159071 16722 17540 18420 19337 20304 2321 2398 235 24709 25959
12.169 1348 14207 | 14872 15784 16645 17580 18.531| 19.961 20655 21814 23045 24349( 25733 20200 2875 30404 32150

12112683 13412 14492 15026 15917 | 16870 17.888 18977 20041 21364 | 22713 24133 25650 27211 29.00 30850 32824 34931 37180 39581
13/ 13809 14680 15618 16627 17.713] 18882 20.441 2495 20953 24523| 26212 28029 29985 32089 34352 | 36785 30404 42219 45244 48497
14} 14947 15974 47.086 18.202 19509 2015 22550 24215 26019 27.975| 30095 32393 34883 37581 40505 | 43672 47103 50818 54841 59.1%
| 19]16.007 17.293 18509 20024 21579| 23276 25429 2152 20361 31772 | 4405 37280 40417 43842 47500 51060 86.110 60.965 66.261 72.035
o 16] 17.258 18639 20457 21825 23.657| 25573 27888 30024 33003 35950 | 39180 42753 46672 50980 55,717 60925 66649 72939 79850 67.442
17 18430 20012 23608 25840 | 28213 30840 33750 36924 40545| 44501 48884 53730 §0.18 65.075| 71673 78070 87068 96.022 10593

21412 25645 28132 | 30806 33.999 37450 H301 45599 | 50396 95750 61725 68304 75836 | 84141 93406 10374 11527 12812
22.841 2761 30539 | 3760 37379 41446 46018 51159 | 56939 63440 70749 78.969 88212 98.603 11028 12341 13817 15474
24.297 20778 33.066 | 3766 40.995 45762 §1.160 57.275| 64.203 72052 80947 91.025 10244 | 11538 13008 14663 16542 186,69

25| 26,243 32.030 41646 47727 | 54865 6349 73908 BA701 98.347| 11441 13333 18662 18187 21279 | 24921 20210 34260 40204 47198
| S0 34785 40568 47.575 56.085 66.439| 70.058 94461 11328 13631 16449 100,02 24133 20320 36679 43475 53031 64744 79095 96671 11819
J5) 41660 49.904 60462 73652 90.320| 11143 13824 17230 261 2102 34159 43166 4668 693.57 88117 11207 14265 18167 23142 29483
40 4688 60402 75401 95026 12080| 15476 19964 25006 39788 44250 | 58183 767.09 L0137 13420 177911 23608 31345 41632 55208 73439
04.463 84579 11280 15267 209.35| 200.34 40653 57377 §15.08 1,163.9 | 16688 24000 34595 49945 72177 10436 15090 21813 3515 45497
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Table ‘A3 (C.o.atd)
Period
" 14% 15% 16% 7% 8% 19% 20% 24% 28% 32% 36% 40%
0 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000. .- 1.600
1 0.877 0.870 0.862 0.855 = 0.847 0.840 0.833 0.806 0.781 0.758  0.735 0.714
2 0.769 0.756 0.743 0:73F 0.718 0.706 0.694 0.650 0.610 0.574 0.541 G510
3 0.675 0.658 0.641 0.624 0.609 :593 0.579 0.524 0.477 0.435 0.398 0.364
4 0.592 0.572 0.552 0.534 0516 ~.0.499 0.482 0.423 (.373 0.329 0:292 0.260
5 0.519 0.497 0.476 0.456 0.437 , 0.419 0.402 0.341 0.291 0.250 0.215 0.186
,, 6 0.456 0.432 0.410 0.390 0.370 0352 3335 G275 V227 0.189 0.158 0.133 |
m 7 0.400 0.376 0.354 0.333 0.314 0296 - 0.279 §:222 0.178 0.143 0.116 0.095
8 0.351 o..wmu 0.305 0.285 0.266 0.249 0253 0.179 0.139 0.108 0.085 0.068
| 9 0.308 0.284 0.263 0243  0.226 0.209 0.194 0.144  0.108 0.082 0.063 0.048 .
, | 10 0.270 0.247 0.227 0.208 0.191 0.176 0.162" 0.116 0.085 0.062 0.046 0.035
| : 5
“ 11 0.237 d.215 0.195 0.178 0.162 0.148 0.135 0.094 0.066 0.047 0.034 0.025 WH
,_ 12 0.208 0.187 0.168 Qas2 - 02137 0.124 @112 0.076 0.052 0.036 0.025 0.018 H
13 0.182 0.163 0.145 0.130 0.116 0.104 0.093 0.061° 0.040 0.027 0.018 0.013
14 0.160 0.141 0.125 0.111 0.099 0.088 0.078 0.049 0.032 0.021 0.014 0.009
15 0.140 0.123 0.108 0.095 0.084 0.074 0.065 0.040 0.025 0.016 0.010 0.006
16 0.123 0.107 0.093 0.081 0.071 0.062 0.054 0.032 0.019 0.012 0.007 0.005
Y 17 0.108 0.093 0.080 0.069 0.060 0.052 0.045 0.026 0.015 0.009 0.005 0.003 |
18 0.095 0.081 0.069 0.059 0.051 0.044 0.038 0.021 0.012 0.007 0.004 0.002 |
19 0.083 0.070 0.060 0.051 0.043 0.037 0.031 0.017°- 0.009 0.005° 0.003 0.002 |
, 20) 0.073 0.061 0.051 0.043 0.037 0.031 0.026 0.014 0.007 0.004 . 0.002 0.001 |
25 0.038 0.030 0.024 0.020 0.016 0.013 0.010 0.005 0.002 0.001 0.000 0.000
0 ° 0.020 0.015 0.012 0.009 0.007 0.005 0.004 o.oo.w 0.001 0.000 0.000 0.000
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a Table A4 (Contd)
Period
n 14% 15% 16% 17% 18% 19% 20% 24% 28% .32% 36% 40%
| 0 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000 1.000
| 1 0.877 0.870 0.862 0.855 0.847  <0.840 0.833 0.806 0.781 0.758 0.735 0.714
| . 2 1.647 1.626 1.605 1.585 1.566 1.547 1.528 1.457 1.392 1.332 1.276 1.224
3 2322 2.283 2.246 2.210 2.174 2.140 2.106 1.981 1,868 1.766 1.674 1.589
4 2914 2.855 2.798 2.743 2.690 2.639 2.589 2.404 2.241 209 1966 1.849
| 5 3.433 3.352 3.274 3.199 3.127 3.058 2.991 2.745 2.532 2.345 2.181 2.035
! 6 3.889 3.784 3.685 3.589 3.498 3.410 3.326 3.020 2.759 2.534 2.339 2.168
7 4.288 4.160 4.039 3.922 3.812 3.706 3.605 3.242 2.937 2.678 2.455 2.263
8 4.639 4.487 4.344 4.207 4.078 3.954 3.837 3.42] 3.076 2.786 2.540 2.331
9 4.946 4.772 4.607 4.451 4303  4.163 4.031 3.566 3.184 2.868 2.603 2.379
10 5.216 5.019 4.883 4.659 4.494 4339 4.193 3.682 3.269 2.930 2.650 2.414
B =~
11 5.453 5.234 5.029 4.836 4.656 4.486 4.327 3.776 3.335 2.978 2.683 2.438 W,
| 12 5.660 5.421 5.197 4.988 4.793 4.611 4.439 3.851 3.387 3.013 2.708 2.456 2
| 13 5.842 5.583 5.342 5118 4910 4.715 4.533 3.912 3.427 3.040 2727 2.469
: 14 6.002 5.724 5.468 5.229 5.008 4.802 4.611 3.962 3.459 3.061 2.740 2.478
15 6.142 5.847 5.575 5.324 5.092 4.876 4.675 4.001 3.483 3.076 2.750 2.484
W 16 6.265 5.954 5.669 5.405 5.162 4.938 4730, 4.033 3.503 3.088 2.758 2.489
, 17 6.373 6.047 5.749 5.475 5.222 4.990 4.775 4.059 3.518 3.097 2763 . 2.492
18 6.647 6.128 5.818 5.534 5.273 5.033 4.812 4.080 3.529 3.104 2.767 2.494
19 6.550 6.198 5.877 5.584 5.316 5.970 4.844 4.097 3.539 3.109 2.770 2.496 \
| 20 6.623 6.259 5.929 5.628 5.353 5.101 4.870 4.110 3.546 c %1 b 1 SR 7.7 5 2.497 | |
, ; . [
25 6.873 6.464 6.097 5.766 5.467 5.195 4,948 4.147 3.564 352 2.776 2.499 |
Q, 30 7.003 6.566 6.177 5.829 5.517 5.235 4.979 4.160 3.569 3.124 2.778 2.500

£8S

e ey

L ]




